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INR AEZAK], BLF-ZHUK|, ML EX| JHK|, MA%| SHAW™EX|  SHAX|, SISH= M HE
EY DIAFEAIE, AE, o DIAEYE, AIYE  SEAE A
ti+=S2 S AR i) 2 (FHER]) ozt = =2
BAH%) 2~7 7~15 15~30, 0~2 >30
SEEM(cm) >100 50~100 20~50 <20
XH2etEk(%) <10 10~35 >35 -
HEH(cm)(F5%0) 35~45 25~35 15~25 <15
Chetst Z9] 2|X|(em) 50~80 80~100 30~50 <30
*IHEX| EE =0 Hotst EQ
- QA O] B ek £
dE\HISE 825 g 5184 ik
EQFAME(15) 5.0 0|8} 5.5~6.5 5.0.~5.5,6.0~6.5 7.0 0|4
HF5E(dS/m) - 0.50 ot 0.50~1.00 1.00 0|4
ZIAMEREIA (NOs-N) (mg/kg) - 50 0|5t 50~100 100 0| A
2712(0M)(g/kg) 10 0|8} 10~20 20~30 30 0|4
= 50 0|5t 50~150 150~300 300 0|4
2 0I2HAV.P20s)(mg/kg)
Ly 100 0|t 100~250 250~400 400 0|4
= 0.20 O[5} 0.20~0.60 0.60~1.00 1.00 0|4
ZE(K)(cmol*/kg)
Ly 0.30 O[5t 0.30~0.70 0.70~1.000 1.00 0|4
2+#(Ca)(cmol*/kg) 3.00[st 3.0~5.0 5.0~6.5 6.5 0| Af
otau|&(Mg)(cmol* /kg) 1.0 0[st 1.0~2.0 2.0~4.0 4.0 0|4
LIE&(Na)(cmol*/kg) 0.05 0|3} 0.05~0.15 0.15~0.2 0.2 04



